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INSTRUCTIONS FOR CANDIDATES

Answer all questions.

All questions carry equal marks.

Only one answer is to be given for each question.

If more than one answers are marked. it would be treated as
WIOng answer.

5. Each questionhas four alternative responses marked serially
as 1, 2, 3, 4. You have to darken only one circle or bubble
indicating the correct answer on the Answer Sheet using
BLUE BALL POINT PEN. '

6. The OMR Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out the
Answer Sheet and fill in the particulars carefully with blue
ball point pen only.

7. 1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A WIONng answer means an
incorrect answer or more than one answers for any question.
Leaving all the relevant circles or bubbles of any question
blank will not be considered as WIOng answer,

8. Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found
with any of such objectionable material with him/her will be
strictly dealt as per rules,

9. Please correctly fill your Roll Number in O.M.R. Sheet.
5 Marks can be deducted for filling wrong or incomplete
Roll Number.

10. If there is any sort of ambiguity/mistake either of printing
or factual nature, then out of Hindi and English Version of
the question, the English Version will be treated as standard.

Warning : If a candidate is found copying or if any unauthorized

material is found in his/her possession, F.LR. would be lodged

against him/her in the Police Station and he/she would liable to
be prosecuted. Department may also debar him/her permanently
from all future examinations.
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1. Who was honoured with the title of 1

‘Grandfather of Telugu Poetry’ in the

Vijayanagar empire?
(1) Palkunki (2) Allasani Peddana
(3) Vemen (4) Ram Panniker
2. Match the following — 2.
City Canopy
(A) Jaipur (i) Bada Bagh
(B) Jodhpur (1) Chhatra Vilas
(©) Kota (iii) Jaswant Thada
(D) Jaisalmer (iv) Getore

Select the right answer using following code -
(1) A-i, B-ii, C-iii, D-iv,

(2) A-iv, B-ii, C-iii, D-i

(3) A-iv, B-iii, Cii, D-i

(4) A-iv, B4, C-ii, D-iii

3. In which Tamil epic the story of Kovalan and  3-

Madhvi is given?
(1) Meghdoot (2) Manimekalai
(3) Silappadikaram  (4) Jivaka Chintamani

4. Where did Swami Dayanand Saraswati wrote 4

‘Satyarth Prakash’?
(1) In Alwar (2) In Jodhpur
(3) In Ajmer (4) In Udaipur

5. The Merwara Battalion, formed in 1822, had its 5

Headquarters at -

(1) Jalore (2) Beawar
(3) Jodhpur (4) Pali
6.  Who is the originator of Kuchamani Khayal? 6.
(1) Nanu Ram (2) Tej Kavi
(3) Shah Ali (4) Lachhiram

7. Which of the following was called by Mahatma  7-

Gandhi “A post-dated cheque”?
(1) Cripps Mission (2) Simon Commission

(3) Young Husband  (4) Cabinet Mission
Mission

8. Rana Kumbha was assassinated at - 8.

(1) Kumbhalgarh (2) Nagda
(3) Chittorgarh (4) Achalgarh

fasrR | # A Bt & fUarE B

Suif 9 fee w=faa fear mar or?
(1) TreTgH ! (2) 3reerty UeA
(3) 95+ (4) I gf=TaR
gl ity —

IR waRat
(A) SR i) ST
(B) SR () &7 oo
(C) BT (i) STHdq oF=T
(D) SR (iv) Ter

W U T He T TR Hd Y FEl SN
BT TIT BN —

(1) A, B-ii, C-iii, D-iv

(2) A-iv, B-ii, C-iii, D-i

(3) A-iv, B-iii, C-ii, D-i

(4) A-iv, B, C-ii, D-iii

fra afta "e@e@ § dadd R aRd @
FqT & T 77

(1) Hereq (2) AR

(3) Rretufasre (4) Shasp FRramfor
WA TIFE SRl 7 TRt YSRr $I Hel
foram or?

(1)-3retaR A (2) SR §

(3) TR | (@) ISR A

1822 ¥ TR TS ARATST ICIIT BT AT
A7 — 5

(1) ST H (2) =R A
(3) SRR A (4) Treft #
FAT A S JIdD & —

(1) 9 ™ (2) 95 fd
(3) wIrE e (4) T=R™

oT?
(1) frea e (2) O399 AP
(3) I gavs fagm (4) Bfanic =

RO HFT BT BT g —
(1) HrIerTe | (2) AmTaT H
3) fitsTe # (4) srEerTe #
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9. Who among the following innovated road 9. senfie HifT & SRE qsh AT &1 =y
construction method during  Industrial T FefRed § § foad GroT?
Revolution? ‘

(1) McAdam (2) Abraham Darby (1) weprem (@) Srre s
(3) Charles Goodyear (4) Henry Court (3) TTed TozR @) 37 1

10- The Sitabari fair in Rajasthan is held near the 10 ISR & NI BT JeT v v 3 Rrpe
town of - AT Brar &7
(1) Nokha (2) Tilwara (1) rEr (2) forerarst
(3) Kelwara (4) Kolayat (3) Sararer ) Bremag

1. Who said, “Without Rousseau the French 11 T8 fbad Fer, Al wa = BT BIAT,
Revolution would not have taken place”? BRI Hifd F9a 7 2id)?

(1) Voltaire (2) Lafayette (1) gieR (2) TTHRRY
(3) Napoleon (4) Mirabeau @) Ao IFmEE @) farrey
Bonaparte

12. ‘Bhavani Mandir’ by Aurobindo Ghosh was 12 IRfA< B9 & g1 IR war) Ahew e §
inspired by which of the following works? ¥ b =T ¥ aRe off?

(1) Ananda Math (2) Devi Chaudhurani (1) am=< w5 (2) & AR
(3) Vartman Ranniti ~ (4) Durgesh Nandini (3) gaHr vy (@) giter =fesh

13- In which district of Rajasthan is ‘Jin Bhadra 13- o 92 YR Tor wvsR’ o A fvw R
Suri Granth Bhandar’ preserved? ¥ :fa 27
(1) Chittorgarh (2) Jodhpur (1) ferirsTe (2) ShergR
(3) Jalore (4) Jaisalmer (3) S (4) SRR

14 How many women participated in the Dandi  14- HISRHAN 3B § R 9 aF & <o) A1
March from Sabarmati Ashram to sea coast? H ol ﬁv—cr«ﬁ AT 3 9rT for?

Mo (2) 8 (1) 0 (2) 8
3)5 43 (35 43

15. In which Peasant Movement were the two  15. wUTSH U PUTSH Obs TG 3 fearT frg
farmers Rupaji and Kripaji Dhakad martyred? PYD AT D SR IS 87?7
(1) Begun (2) Bikaner (1) & (2) frorr
(3) Barad (4) Bijolia 6B = @) Reiforar

16 Which Mauryan period pillar has 4 figure of a ~ 16. fibg HRiETel T B Y W ua fene sef
huge elephant on the pillar capital? BT IPpT 27
(1) Loriya Nandan (2) Sankisa (1) R I/ (2) 5fear
(3) Sarnath (4) Rampurva (3) IR (4) IrYRaT

17. When did the ‘Black Tuesday’ event occur . 17. dqlel e Fhe & T [P FIeER g
during the Wall Street Crisis? o9 "fed gg?

(1) November 14, 1930 (2) December 31, 1929 (1) 14 F9%=R, 1930 (2) 31 fegwmR, 1929
(3) June 24, 1929 (4) October 29, 1929 (3) 24 S, 1929 @) 29 JFCEN, 929
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18. The language of Prayag Prashasti composed by 18- &R¥vr gRT o TamToiRa @1 4191 & —
g;‘?}:ﬁiis (2) Sanskrit L 8 sispy
(3) Maithili (4) Pali O] k]
18. Match the following — . 19. Efera aifog —
Mahajanpada Capital HEITTIS ISPl
(A) Matsya (i) Viratnagar (A) 9= () fRETR
(B) Anga (ii) Champa (B) ST (i) @¥T
(C) Vatsa (iii) Kaushambi (C) 98 (iii) Pprew
(D) Avanti (iv) Ujjaini (D) sraf=a (iv) SoarREl
Select the right answer using following code - H feu v HT BT TART &g ¢ T IR
H TAT X —
(1) A-i, B-i:, C-iii, D-iv (1) A-i, B-ii, C-iii, D-iv
(2) A-ii, B-iii, C-iv, D-i (2) A-ii, B-iii, C-iv, D-i
(3) A-iv, B-iii, C-ii, D-i (3) A-iv, Biii, C-ii, D-i
(4) A-iii, B-ii, C-i, D-iv (4) A-iii, B-ii, C-i, D-iv
20. Which branch of Pratiharas is considered to be ~ 20. UfERI &1 FIel AT HaAiES GRIG AW
the most arcient? T 87
(1) Jalore (2) Mandore (1) SR (2) quER
(3) Marwar (4) Ujjain @) ARars (8) S
21. Match the following Harappan sites with the  21- <19 faU ¢ seWIHela ®@l &1 S 591 49
states where sites are situated — gaferd ST S8l wier srafverd g -
(A) Alamgirpur (1) Rajasthan (A) IR ) <SR
(B) Dholavira (ii) Haryana (B) SNTdRT (i) sRamm
(C) Rakhigarhi (i) Uttar Pradesh ©) el (i) SR we
(D) Kalibangan @iv) Gujarat | e P av) - Jerrd
R Ry T g BT T FW Y Tl SR
Select the right answer using following code - BT T DY —
(1) A-iii, B-iv, C-ii, D-i (1) A-iii, B-iv, C-ii, D-i
(2) A-i, B-ii, C-ii, D-iv (2) A-i, B-ii, C-iii, D-iv
(3) A-iv, B-iii, C-ii, D-i (3) A-iv, B-iii, C-ii, D-i
(4) A-iii, B-ii, C-i, D-iv (4) A-iii, B-ii, C-i, D-iv
0o1-@ Page 4 of 32



22,

Which of the following pairs is mismatched?

2. 39 9§ § B T JAfera T8 82
SECEY '

Author Treatise T
" (A) Suryamal Misan Vanshodaya (A) qiﬁq(.—(.[ Argor gy
(B) Padmanabh Kanhadade Prabandha (B) UgEAH BrEsed Ygay
(C) Karnidan Suraj Prakash (C) oM XS BT
(D) Mandan Raj Vallabh (D) HoeT ToTaeT
@ A @ A
D 3D
4B @B
23. The leaders Gopilal Yadav, Thakur Deshrajand 23 widtarey 7aq, SIEXY <IRTS U4 Nqdiemer
Revtisharan Upadhyaya were associated with SREZIC IR T IC B 2 e v e it e e
which Prajamandal Movement of Rajasthan? T ONE w®7
(1) Bikaner (2) Dholpur (1) fiorx (2) efiergR
(3) Bharatpur (4) Banswara (3) WRAR (8) gigareT
24. When was ‘National Mourning Day’ observed ~ 24- WAl A=A B IR T N g’
during Independence Movement? 9 IRNfTT fbar T o
(1) On the day of partition of India (M 9RT faursH & R
(2) On the day when partition of Bengal came (2) FTe e Ar B @ R
into force @ T & qe T B R
(3) On the day of Surat Session of Congress (@) SIferTiaTe 91T TTETE @ R
(4) On the day of Jallianwala Bagh Massacre
25. Who invented the Flying Shuttle? 25. G WCe BT AR e far?
(1) Richard Arkwright (2) John Kay (1) R=rE smapvrzse @ S+ 3
(3) Samuel Crompton (4) James Hargreaves (3) vgaret hire @) Simg sy
26. During the reign of which ruler did Balban get 26 g B AEI-T—YHIRG FT U - wE
the post of Naib-e-Mumalik? @ ATHTDIA F U garr?
(1) Masud Shah (2) Bahram Shah (1) 7E o (2) = IE
(3) Nasiruddin Mahmud  (4) Ttutmish @) TRET T (@) seqani
27. Which of the following statement regarding  27- T« FAE a5 @11 & < § $I9ar s
Gupta emperor Chandragupta-II is true? g 8?
(1) The Chinese traveller Fa-Hien visited India (1) TS I el § AT I BIfA R
during his reign. ST o7 |
(2) He was a Buddhist. (2 9 dig sETaedt oy
(3) He was defeated by the Shakas. (3) 9% WY GRT TRIRNT B AT o7 |
4 it fiction * i 'y . ,
(4) The Sanskrit fiction Kathasaritsagar was (4) TP Pl AR AR T
itten during the reign of Chandragupta-1I. |
written during the reign of Chandragupta S e e
01-& Page 5 of 32



28. The famous temple situated at Dhulev is 28 gog & Red uf¥g afer, oF ov & fog
devoted to which Jain Tirthankar? defex &l wAfda &7
(1) Mahaveer (2) Parshvanath (1) 98 (2) gred=rer
(3) Shantinath (4) Rishabhdev (3) wrifeemer (3) =yveg
29. In which of the following places were Maukhari ~ 29- W&} Ju 3if¥era (238 3) 1 & & w8l 9§
Yup (238 A.D.) inscriptions found? T g8 37 -
(1) Barnala - (2) Bairath (1) ST 2) RIS
(3) Badwa (4) Badali 3) g=ar 4) sl
30. The first princely state to legally abolish female ~ 30- =1 @& @ iR SN 8ING &RA drell
infanticide was - ORI & Ugall Rarad off —
(1) Jhalawar (2) Jaipur WIEIGIGIS] (2) SR
(3) Shahpura (4) Kota (3) SMEYRT () Prer
31. The dynasty which was ruling over Devagiri at 31 I[SIq¥1, ST 3[TSEIT & JATHAY S THY SIRIRT
the time of the invasion of Alauddin was - TR MG HR B 1, 98 © —
(1) Yadav dynasty (2) Parmar dynasty (1) gqreqg 997 (2) WREHR 997
(3) Rashtrakuta (4) Chalukya dynasty (3) Ireehe A @) =T a9
dynasty
32. From where was the red clay idol of 32 {/BMR HiEel™ ¥ USRG aRvrgafd o
Mahishasuramardini displayed at the Bikaner e e 91 it goid: Hal 9 U g8?
Museum originally found? (1) GhR (2) FEHTE
(1) Sambhar (2) Takshakgarh (3) e 4) amR
(3) Bhatner (4) Aamer
33.  Which of the following is a wind instrument? 33. fyforlRaa & & Pi=ar YRR amr 2
(1) Ravanhatta (2) Jantar (1) rqorgeen (2) \icR
(3) Satara (4) Surmandal (3) FarT (4) grvSd
34. When was the Treaty of Frankfurt concluded? 34. BHrme I G B YA gae
(1) 23 August, 1866  (2) 18 January, 1871 (1) 23 31T, 1866  (2) 18 SIa<l, 1871
(3) 26 February, 1871 (4) 10 May, 1871 (3) 26 HNAS 1871 (4) 10 TS, 1871
35. Dudhwakhara Peasant Movement was related 35 SHARERT fHuT- STl fbd Wog & wwafva
to which state? or?
(1) Jodhpur (2) Jaisalmer (1) SiegR (2) TR
(3) Bikaner (4) Jaipur (3) FremR @) SagR
36. When did Japan formally surrender in World ~ 36- fg<fiwr fowg g5 & W= 7 afuaRe w7 &
War II? H9 THAYOT fHar?
(1) 2 September, 1945 (2) 6 August, 1945 (1) 2 fyawR, 1945 (2) 6 3FTE, 1945
(3) 3 September, 1949 (4) 3 September, 1939 (3) 3 RyamR, 1949 (4) 3 Ryawax, 1939
37. ‘Banas Culture’ of Rajasthan is related to - 37. ICRIA B T WP I & —
(1) Neolithic Period  (2) Palaeolithic Period (1) FqUEIT BT | (2) YRIT9IOT Bied |
(3) Mesolithic Period (4) Chalcolithic Period (3) FequNr Il ¥ (4) dHUINOT BT o
01- & Page 6 of 32



38. Which of the following painting style was most ~ 38- ey 3 q DI Rrrepernm i BUGRCECT
influenced by Mughal paintings? I qaies gafaa gs?
(1) Kishangarh style  (2) Jodhpur style (1) fFerrre deh (2) SergR et
(3) Jaipur style (4) Mewar style (3) SRR e @) Fare I
39: Who was the founder of Shahpura branch of 39 YFEIE Hyemg & RN I F HRIUYS
Ramsnehi Sect? I I?
(1) Jaimal Das Ji (2) Ramcharan Ji (1) e o (2) IR o)
(3) Ramdas Ji (4) Dariyav Ji 3) IR o @) =Rarg oY
40. Who founded the Dev Samaj, established in 40 1gg7 3. 7w <9 e @ e ey
1887 AD? &7
(1) Shiv Narayan (2) Keshavchandra (1) R TRmr A== (2) dygas 99
Agnihotri Sen ) .
3) ITHRM YIUgHT 4) =g
(3) Atmaram Pandurang (4) Narendra Nath (2 = t A
41. The provisions of which Section of the 41 oo AR RIS (HeE) SifRfEE, 2019
Rajasthan Panchayati Raj Act, 1994 was &I, NISTRIF U=l IS AR, 1994 &5
amended by the Rajasthan Panchayati Raj 59 aRT B grauET F G R g7
(Amendment) Act, 20192 (1) T 29 (2) =T 19
(1) Section 29 (2) Section 19 3 "
(3) Section 30 (4) Section 25 (3) et 30 @) s 25
42. On which of the following matters previous  42- fyeifRag 3 & 59 favg o= e geenfig
sanction or recommendation of the President is B &Y UEART B g =@od a1 Rywie @
not required for introducing legislation? JMGTIHAr &1 BidT &7
(1) A Bill for the regulation of the Right of (1) ARG & IPBR & RAfET ¥ SR
Citizenship e
(2) State Bills imposing restrictions upon the (2) AR P T N T SRR e
Freedom of Trade Y 5T FERre
i e o eyt & i 1 v e
. : et 7 aRads anfe & wdfa RAdge
43. The Chief Justice of India wants the Supreme 3. URG B T U, SeEow =A™ @)
Court to sit at a place other than Delhi. For this, Rl @ ' FATAT I I TR RS BT
he needs -
(1) Approval of the(2) Consent of the e | 3 forg, 9¥ ol @ -
President President (1) Igufa &1 a—gfx:ha:[(Z) U & gEafy
(3) Intention of the(d) Assent of the
3 Wg‘qﬁ[ I (4 ‘\frg‘qﬁ[ S]'Tqﬁ
President President e o g gL
01-® Page 7 of 32



44,

45.

46.

47.

Who among the following is the woman
Member of Parliament (MP) from Rajasthan,
who has been represented for the longest term
in Rajya Sabha?

(1) Ushi Khan (2) Sharda Bhargava
(3) Laxmi Kumari (4) Shanti Pahadiya
Chundawat

Who among the following took oath as the
Prime Minister while being a member of Rajya
Sabha?

(i) Mrs. Indira Gandhi

(ii) H.D. Deve Gowda

(iii) Inder Kumar Gujral

(iv) Manmohan Singh

Choose the correct option —

(1) Only (i), (ii) and (iii)

(2) Only (i), (iii) and (iv)

(3) Only (ii), (iii) and (iv)

(4) (i), (ii), (iii) and (iv)

The report of Mandal Commission was

submitted to President on -
(1) November 30, 1990 {2) November 20, 1989

(3) December 20, 1978 (4) December 31, 1980

Which of the following are the conditions of
President’s office?

(i) Heis a citizen of India.

(ii) He has completed the age of thirty five
years.

He shall not hold any other office of
profit.

He shall be entitled without payment of
rent to the use of his official residences.
Choose the correct option -

(1) ), (i), (iii) and (iv)
(2) Only (i), (ii) and (i)
(3) Only (i) and (ii)

(4) Only (iii) and (iv)

(iii)

@iv)

44,

46.

47.

for=ifed o 9 S, oRRIE 9§ ISIOEET A
T 1T Ay & o R e gl
wfger aiae 27

(1) o8 W= (2) vReT Wwrlg

(3) T HARY TosEd (4) whifa wsIfean
fr=ifea ¥ 9 e g 9 @ 9w B
Y JTHAT @ w9 H 90 oll?

) S gfexr TR

(i) U= S <9 TAsT

(i) TR FAR ToRTA

(iv) #ET Rig

el fadey &1 99 Piforg —

(1) I (1), (i) 3R (i)

(2 DI (i), ({ii) 3R (Qv)

(3) B (i), (i) 3N (iv)

@) (), (id), (i) 3R @Gv)

HSd N §RT Ul & 3 Ruid &9

TR A T2

(1) 30 T9%IX, 1990 (2) 20 Ta=I}, 1989

(3) 20 fROwR, 1978 (4) 31 fRg=R, 1980

frifea | ¥ S Isufa @ ug & fog o
g7 sl

() 9% IR BT ARG T

(i) @8 Y99 q¥ I Mg [ HR g T

(iii) 9T Y PIS T BT UG SRT T8I BT |

(v) a8 o= famn fo argw I farat
P SUANT HT HER S|

e fdwen &1 a9 BT —

() @), (i), (iii) 3R (iv)
(2) Baat @), (i) 3R (i)
() Bad (i) 3R (i)

(@) Baa (iii) R (iv)

01-@%
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48. Who among the following directs the place and 48 Frifb 3 § @ SR ¥ HEORYE &)
time of meeting of Council of Ministers in 9o% P WIH IR g9y fAfde Far 4
Rajasthan? (1) 9= w=@as
(1) Chief Whip (2) e
(2) Chief Minister My ;

(3) Minister of Parliamentary Affairs (3) we B =
(4) Governor (4) gt

49. Which of the following Article only applies  49- fpifha & & Hr=T IgoT S @R
when the Lok Sabha does not stand dissolved or THIT BT 519 ollh 4T 53T < &) 30a] ST
prorogued? FAGEM T g 8NP
(1) Article 75(1) (2) Article 75(2) (1) ag=T 75(1) (2) 3BT 75(2)

(3) Article 75(3) (4) Article 75(4) (3) 3rgee 75(3) (4) Irgese 75(4)

S0.  Which of the following statements are correct ~ 50- WRG & WRYE § G ufhar & e ¥
regarding the Amendment Procedure of the P T HYT T &7
Constitution of India? R ¥ T g6 & B 9 geq
)] An Amendment of the Constitution may @ i @ “

be initiated only by the introduction of LI q'l.s ' g_ﬂ' e G
a Bill for the purpose in either House of D B URA AT o1 Gahar 2 |
Parliament. () wfeerT & HeRE g B e @
(ii) The previous sanction of the president e § enfig o @ W
is required for introducting any bill in & & 3 (578
Parliament for Amendment of the % "3_ I am “_I 7k
Constitution. (l]l) QI@QI%I ﬂﬁ“ﬂ'ﬁ W ﬁg—q_cﬁ X
(iii)  The President cannot exercise the veto FefeR &1 99T 98 & o =
on the Constitution Amendment Bill. (iv) dfeE deieF e w® dge @
(iv)  Joint sitting of Parliament cannot be . Yo TS W T
summoned for Constitution 3 T = gl
Amendment Bill. el famed o1 7ET B —
Choose the correct option - () Bae (i), (i) 3R (i)
(1) Only (i), (ii) and (iii)
(2) e (i) 3R (i)
(2) Only (i) and (ii)
ol _ (@) Bae (i), (iii) MR (iv)
(3) Only (ii), (iii) and (iv) e
@ 3 D), (i .
(4) Only (i), (iii) and (iv) ), G SR (1)

51. Shreya Singhal Vs Union of India (2015) case 51 sy Riger a9 g+ it Sfear (2015) a8
is related with - foaa Hefda 87
(1) Fundamental right of free speech and (1) sifvaafdd &) adaar & Hifors IReR §

expression (2) JTEYRN B ORI 498 (@) B gOUAT B
(2) Directions to prevent misuse of Section JAHT B AN
ihiley 03 TG @) 7q 37 3R AT e B ARBR
(3) Right to vote and contest election (4) o oied) BT AT T & ARG QR
(4) Right of a girl to marry a person of her own T $ afrPR X
choice
O1-® Page 9 of 32



52.

Who among the following has been the first
Chief Minister of Rajasthan who was not a
member of the Legislative Assembly at the time

52.

frifeg & 9 o9 WoReW B UEd W
T W T O g U @ e o

Page 10 of 32

of taking oath as the Chief Minister? SERRECIENEIE ISR LI
(1) Bhairon Singh (2) Barkatullah Khan (1) FR¥e AeEEg (2) Rbeetle @H
Shekhawat
3) 319N TEAIT 4) SETT ggTrear
(3) Ashok Gehlot (4) Jagannath Pahadia & i '

53. Who among the following was first given the 53. fA=ifdd § 4 f&d TeQ Ugal o= &
additional charge of the Governor of TR T AT PRIR T Ta7?
Rajasthan?

(1) T.V. Rajeswar (2) Kailashpati Mishra (1) 1. 4. TR @) Be ||g|q|E-| st
(3) Dhaniklal Mandal (4) Swaroop Singh - (3) afipeTrer Avsd  (4) TaHU Rig

54. Which of the following pairs is not comect 54 fifha # | BT W ol P B Hay
regarding Fundamental Duties? H e el 8?

(1) Renounce : Practices derogatory to the () @ - Rl & W= & faog germell 1)
dignity of women. @ e : dsfe gfRed, AFEarR R

(2) Develop : Scientific temper, humanism and =&
the spirit of inquiry and reform. ST T SR IR

(3) Preserve : Sovereignty, unity and integrity (3) URRETUT : WIRT P WAL, THAT AR IRIuST
of In@1a. %) <& BT

(4) Promote : Harmony and the spirit of L
common brotherhood amongst all the (4) fmior : AT & W SR A e ok
People of India. TH HTged Bl q1GT B |

55. Which of the following pairs is not correct 55 fym=iferRaa # & w1 & Ny & Frfye af
regarding Directive Principles of State Policy? B I H BT ™ wel T §?

1 313-_5@3' : AT df e
(1) Article 43A : Forty-second Amendment & 37 &l
Act, 1976 SR, 1976 gall
(2) Article 49 Forty-fourth Amendment (2) rFBT 49 : FACHH df weier
Act, 1978 e, 1978 | .
(3) Article 43B : Ninety-seventh Amendment (3) 3rgeeT 439 : A df e
Act, 2011 Ffefr, 2011
(3) Article 45 : Fighty-sixth Amendment (@) srg=ss 45 : AR af GeeE
Act, 2002 e, 2002

56. The political party that secured the highest seats ~ 56- 1977 & SHaw & GEROT a3 9
in the general election to the Lok Sabha in 1977 AP @I (@%) aiftia e are T
was -

(1) Bharatiya Janata ~ (2) Janata party =G/ Sl
party (1) YR Si=7ar aidt () ST ardt
(3) Bharatiya Jana (4) Bharatiya Lok Dal !
= % (3) ¥R S (4) 9RAY &b T
Sangh
01- @



57. Which of the following political party/parties 57 WRe g ST ERT S T8 A SR
is/are recognized as state party in Rajasthan, (AT, 2021) & SAR, ISR § FEiReT &
according to the latest notification (March q DT/ SIS e By NG T B
2021) issued by the Election Commission of ©U W AT g § /87
India? ) T AFaie udt
()  Rashtriya Loktantrik Party N ——

(i) Bhartiya Tribal Party PSR S
(iii) Rashtriya Lok Dal e o
Choose the correct option - . o r

. el M) oas (1) @) (), (i) 3R (i)
(1) Only (i) () (i), (ii) and (iii) ) e e
(3) Only () and (i) () Only () and (iii) I (@) AN (@) @) DI (i) 3N (i)

58. Who among the following was the first woman 58 fyeifdsq I Gl )
member in Rajasthan Legislative Assembly? Ugall AfRdr ey off?

(1) Ganga Devi (2) Yashoda Devi (1) 7T o (2) J9mer <&t

59. The Speaker of the Rajasthan Legislative ~ 59. o/ei= femramr &1 semy fesifeg & 9
Assembly is the Ex—officio Chairman of which 5 AR 7 739 aege BraT 27
of the following Committee? '

(1) Committee on Privileges (1) ot wfify
(2) Rules Committee and Rules Sub Committee (2 Fr7m |y iR frm su affy
(3) Committee on Subordinate Legislation (3) srfireer fqums wfafy
(4) Question References Committee (4) ue Gt afafy
60. ‘Co-operative Societies’ is the matter of - 60. FEar AR Qv & -
(1) Union list (1) & =it &1
(2) Concurrent list (2) et = 31
(3) Residuary power (3) srafdre ifa @7
(4) State list 4) Iy '\lﬁ" BT

61 As per advance estimates (current prices) for = 61 ¥ 2020-21 B fere i srgamt (srafera gt
2020-21, the share of service sector in State R) & AR, AT & D AT P Sy
Domestic Product of Rajasthan is - el SN § NG & —

(1) 45.43% (2) 55.40% (1) 45.43% (2) 55.40%
(3) 54.30% (@) 55.48% (3) 54.30% (4) 55.48%

62. Nivesh Bandhu Portal is related to which 62 g ] U 1 Hew R & A ¥ e
sector? T -

(1) Insurance (2) Food Processing Industry ) §rr (2) Q=T THEHIOT IERT
(3) Foreign trade (4) MSME ©G) fiesh =R ) THTHTHE,
o1-@ Page 11 of 32



63.

65.

66.

Which of the following, in view of, according

to census of 2011 in India, the sex ratio of states

in ascending order is-

(1) Andhra Pradesh, Chhattisgarh, Tamil Nadu
Kerala

(2) Chhattisgarh, Andhra Pradesh, Tamil Nadu,
Kerala

(3) Tamil Nadu, Kerala, Chhattisgarh, Andhra
Pradesh

(4) Kerala, Tamil Nadu, Andhra Pradesh,
Chhattisgarh

Which of the following is not included in the

Three Agriculture Reform Act, 2020 enacted by

the Government of India?
(1) The Farmer's (Empowerment and
Protection) Agreement of the Price

Assurance and Farm Services Act, 2020

(2) Essential Services (Amendment) Act, 2020

(3) The Farmers Produce Trade and Commerce
(Promotion and Facilitation) Act, 2020

(4) Essential Commodities (Amendment) Act,
2020

Which of the following statement is true

regarding the decline in HDI ranking by two

points in 2019 as compared to 2018?

(1) Mean years of schooling increased from 6.5
to 7.5 in 2019.

(2) Expected years of schooling remained
constant at 12.2.

(3) Life expectancy at birth declined from 69.7
to 69.4 in 2019.

(4) GNI per capita (at 2017 PPP$) increased
from US$ 6400 to US $ 6700 in 2019.

Which of the following sector in India has been

an exception, whose share in Gross Value

Added has increased from 2.3% in Financial

Year 2012 to 2.7% in Financial Year 20217

(1) Industry

(2) Manufacturing

(3) Electricity, gas, water supply and other
utility services

(4) Mining

63.

64.

65.

66.

forforad 3 9, ¥Ra & 2011 B SEIVET @

IR, WAl &7 TG & g | IRiE
P B T —

(1) a1y vewr, BeiNTS, dfierTg, HRa
(2) BiRTTG, 3y URY, AffeTS, 37
(3) aftemTg, @7, BTG, MY UQw
(4) a7, ARETg, Y Uy, BRINTS

ffaRad # ¥ RT IR §RT T T A

$ GIR S, 2020 ¥ MAA T8I & —

(1) Fu& (FfFTDHROT T FRET0T) FHSAI, DA
AT Td B JaT AfAfgH, 2020

(2) Sfraeads Har (GEer) AT, 2020

(3) pv6 IUE AUR Y& iy (UcgTEs
gfaen) rfafrE, 2020

(8) e Oy (HeEH) SfRfE, 2020

2018 @ g1 H 2019 § HDI &b # <7 bl

3! fiREe & dey # F=fofRaa § 9 aw

U A 27

(1) 2019 # THelT e & 3 Ed @y 6.5 ¥ qgaR
75 B T

.(2)W§ﬂﬁrm$aﬂ%aﬁ12.2wﬁw\f?%’l

(3) 5/ B I ST YA 2019 F 69.7 ¥
HSHR 694 B TS| |

(4) ufa =afdd A I AT (2017 PPP$ UR)
USS$ 6400 & 9gdHR 2019 # US$ 6700 =
TS

YRd # f=falaa § 9 o9 a1 89 9o afthd

I H Us IAudle 2w B, foras o fxia

79 2012 ¥ 23% I I} O a¥ 2021 H

27% B TAT?

(1) ST

(2) fesior

(3) fastelt, 9, e & smufd iR ST
JaTe

(4) @+

01- @
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67. What is the contraction of real GDP of India in

the year 2020-21 estimated by NSO?

67. wRa B qrfs IRIN F 9§ 2000—21 F

fba W TIgwal gRT s fhar
T 'Y

ke & L (1) 9.9% 2 7.7%
ke Ro% 3) 8.8% (4) 10.9%

68. What was the unemployment rate according to 68 39 ¥ 2018—19 ¥ NRARH Jaw B ad
‘Periodic Labour Force Survey (PLFS)’ in (PLFS) & FATAR RSN &% fHaw ufderg
2018-19 in the country? 7B
(1) 5.8% () 5% (1) 5.8% @ 5%

AT Lo (3) 7.9% 4) 9%
69. Under the scheme of ‘Mukhyamantri Yuva 69 HEIHA gar e A @ asa Rifta
Sambal Yojana’ the unemployed allowance for SRISATR Jarif & T SR =y &) o
educated unemployed youth has been revised B TR 2019 § YAET B A Ty g o
and made effective from February 2019, that 5 & - ;
= - (1) 9oy U il @Y 4000 T ufyErE W
(1) The male eligible beneficiaries will get an
allowance of ¥ 4000 per month. Tt

(2) The male eligible beneficiaries will get an {=IEERH wm s dsG
allowance of ¥ 3000 per month. s

(3) The male eligible beneficiaries will get an ©) go o i 31 3500 X it e
allowance of ¥ 3500 per month. fererm

(4) The male eligible beneficiaries will get an @) gou ur3 At 31 s000 X SRS T
allowance of ¥ 5000 per month. forerm |

70- In India, as per the provisional estimates, the  70- WRA j WD I B FER, 99
per capita Net National Income (at current 2019-20 ¥ ufteafag s T 3 (aTaL
prices) in the year 2019-20 is estimated as - AT W) AT B
(1% 1,20,520 (2) % 1,36,560 (1) 1,20520 ¥ (2) 1,36,560 T
(3) % 1,10,500 (4) T1,34,226 (3) 110,500 2 (4) 134226 2

71. Which city of Rajasthan received the ‘Best 71- 2g JMFCER, 2020 BT A% ool §, W7 B
Heritage Destination in the Country’ award in AR P R RS SEIE 59 T Bl Pl
New Delhi on 26 October, 2020? IREHR UK gar 2?

(1) Jodhpur (2) Jaisalmer (1) SR (2) SR
(3) Jaipur (4) Udaipur (3) SRR (4) ST
01-@ Page 13 of 32



72. Under the Umbrella Scheme Pradhan Mantri 72 3idal II51 & dgd WIMHA1 oA GUal
Kisan Sampada (SAMPADA) Yojana, the AT, J3Ad A= J/aag Formil 1 an)
Ministry is implementing various component N IE 2| T H 9 o ) e TS 87
schemes. Which of the following is not (1) BRaS iR Soas foider &1 i
included?

. i . i
(1) Creation of Forward & Backward Linkages @ P T @ fee g <=
(2) Infrastructure for Agro Processing Clusters (3) A HE TS
(3) Mega Food Parks o 3
S - @) oS gy Rrel 3 Ria aReoET @1
(4) Installation of Trrigation Projects in
Backward Districts AT

73. In the year 2020-21 (as per fourth advance  73- ¥ 2020—21 # (@R R IJTFF) & AR
estimates) total food grain production in the _
country is estimated as- <R H AT Bl RN IHTE & —

(1) 296.65 million (2) 200.00 million ‘
e onne (1) 296.65 fAfera <= (2) 200.00 fAferaT 24
(3) 308.65 millio (4) 896.65 millio
L | (3) 308.65 fAfcra e (4) 896.65 fAferasT &
tonnes tonnes

74. Which of the following statements givenbelow 74 Ture faumT & ey & fefoliad § ¥ oF
is/are correct regarding Gopalan Department? /R T T &/

(A) It act rigorously for promotion, ) ' |

: conservation programmes and (A) B WREYT PRFAI BT dQ@T A AR
development of cattle (Bovine) S 6 9Y (M5en) e B fAer B
population of the state. c

(B)  Impart managerial skills to gaushala ferg PR gl
manager’s, in the field of organic (B) 9 Wil & &1 # e yEEat B
farming. U4EHIT DIl Y& HIAT |

(C)  During 2018-19, assistance of 150 lakhs (©) ¥ 2018—19 & <R Femell BT UY
has been given to gaushalas for f*Rwer & forw 150 m @) gewREr <
detention of cattles. TS 2

(D)  During I*' Phase, 176.19 crore Rupees (D) TAF RO & SRME TINTAT B 176.19
has been distributed to gaushalas. PN BUY qic T |

Choose the correct option - e by &1 999 B —

(D'A,B,CandD  (3A,BandC (M A,B,CARD (@ A,BaRC

S Rl @A Bnd (3 B,C3R D (4 A, B3RD
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75 Pradhan Mantri Kisan Samman Nidhi (PM-  75. 2019 & T® DI TS T e aw e ﬁﬂﬁ
KISAN) scheme launched in 2019 provides - ; >
(1) An amount of ¥ 5000 per year is given in (PM:KISAN) S
three installments into bank account of the (1) arieRn & S @it § A9 et § ST
) xlnifcl)zzf S(;f <6000 per year is given in 5000 < 1 I A 8
three installments into bank account of the (2) araIil & S @t § A et GRCIN
beneficiaries. 6000 X ufcad & R < Sy 2
(3) An amount of ¥ 8000 per year is given in (3) R & Io @rdt ¥ AR fredt F
four installments into bank account of the
beneficiaries. 8000 X wfcay & Il & ot
(4) An amount of %7000 per year is given in @) R & I @l § < fhar § Wy
two installments into bank account of the 7000 ¥ Uiy 5 <ifdr & iy 2
beneficiaries.
76. The rank of India in the ‘Ease Of Doing  76- 2019 & forv €5 &ifw S fivew soaw
Business Index’ for 2019 was - (aPih) AR HT I o7 —
(1) 64™ position (2) 63™ position (1) p4df T (2) 63af I
(3) 61 position (4) 62™ position (3) 61397 ©IF (4) 6247 I
77. In Rajasthan during 2018-19, the major  77. ISRIN # 201819 & IR, PHRICE I G o)
initiatives taken by Animal Husbandry SRT & TS U9 Usd & —
Department are — (A)  wHEnE Uyl 9 Qe
(A)  Bhamashah Pashu Bima Yojana B) AT Haa F=7 Ao
(B)  Avika Kavach Bima Yojana (C) e o
(C)  Navjivan Yojana (D) TEHER T
(D) Palanhar Yojana frtferiad & & s/ & srim ) R
Which of the following programme was/were §§?
W m
D () st A 2) B A SR B
(1) A only (2) A and B only @) A s @)
®)A.B,CandD (4 Bonly o CAID G
78. Tn order to recover the economy fromimpactof 78 Hifds—19 TEHAR B Y JfRe Bl
COVID-19 pandemic, Government of India ST & foy i Rod 9o siv a
and RBI together announced a stimulus worth i - g TR iy
. IcHTET $1 °INon Y, 98 § —
29.87 lakh crore, which is - (1) L BT 15 ) AW BT 10
(1) 15 percent of GDP (2) 10 percent of GDP PISEG] uferera
(3) 12 percent of GDP (4) 20 percent of GDP (3) St @1 12 (4) St 1 20
afererd gferera
79. According to Census 2011, in Rajasthan the  79- 2011 & SVET & YR, SR #
highest urban literacy rate was of - Haiferp IEs WERaT aX off —
(1) Jaipur (2) Udaipur (1) IR F 2 SR A
(3) Ajmer (4) Pratapgarh (3) TR & (4) YT B
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80.

The share of agriculture and allied sectors in
Gross Value Added (GVA) of the country at
current price in year 2019-20 is -

80.

9§ 201920 # THMA I W < D Hbd
T0 ®F (GVA) ¥ HfN IR Hag &3 &1
feem g —

(1) 17.8 percent (2) 18.8 percent (1) 17.8 gfdeg (2) 18.8 gfa=rd
(3) 16.8 percent (4) 19.8 percent (3) 16.8 gfeE (4) 19.8 gfyora
81. Match the following List-I with List-II - 81. ffoRad g1 &7 -1 9 e —
List-1 5l |
A. Hacking A. BfdT
B. E-mail B. 3—Wo
C. Browser C. ISR
D. Barcode D. IRPIS
List-11 A1
P. Machine readable optical label that P wie — ey ifeee vae Ry §9
contains information about the item to AEeH D R § oFeN B @ ﬁi‘\“\'cl\?
which it is attached. Tl T8 ST 2
Q. Activities that seek to compromise security Q. WA wfafaferdt i fefea Sua=en, S
of digital devices, such as computer, & Frger, WIcHH, 39ole 3R UEf d&
smartphones, tablets and even entire & dget deas o R | wwsiarn
networks. HAT AR & |
R. Software that accesses and displays web R. GfCdR W 99 W 99 T AR GBIl
pages and files on the web. BT THRIY SR yefid $Rar § |
S. Messages distributed by electronic means S. TP FPYR SUANTH §RT U6 H°Id B
from one computer user to one or more A" Al Y E sifers Wsﬁ al
i Soagite ArEE & faaRa G|
recipients via a network. S3 feo e e i
Select the right answer using following code - = s g g LY
MA-R,B-Q,C-P,D-S (M A-R,B-Q,C-P,D-S
@2A-QB-R,C-S,D-P @A-QB-R,C-S,D-P
®A-Q,B-P,C-S,D-R 3 A-QB-P,C-S,D-R
@WA-QB-S,C-RD-P @ A-Q,B-S,C—R,D-P
82. The project SMILE for e - learning at school 82 w@a # § — AFT & forg Uoige SMILE &1
stands for - qoiey § —
(1) Social Media Interface for Learning (1) Social Media Interface for Learning
Enhancement Enhancement
(2) Social Media Interaction for Learning (2) Social Media Interaction for Learning
Enhancement Enhancement -
(3) Social Media Interface for Learning (3) Social Media Interface for Learning
Engagement Engagement
(4) Social Media Interaction for Learning (4) Social Media Interaction for Leamning
Engagement Engagement
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83. Accidentally you make a mistake, when you are ~ 83- TSI MY TTelchl & 84 8, 9 3117 (9=
working in your document in MS word, how MS word STaHe ¥ &1 3% W& B 8, dl 3
will you recover it? S HY G U BRAT?

(1) Ctl +Y (2 Cti+U (1) Ctrl +Y (2 Ctrl + U
() Cul + X @) Cal +Z (3) Ctrd + X @) Cl+2Z

84. Which of the following cable has highest data 84 4= & § HaQ oo T ¥ ST TEBR B
transfer speed? qTell DT PIAT 27
(1) Coaxial Cable (1) BT DA
(2) Twisted Pair Cable @) eRies R B9
(3) Optical Fibre Cable (3) siffeael BIER DIt
(4) Cat 6 Cable .

(4) Cat 6 daa
85. In which of the following BCC is used? 85. f § 9§ BCC &7 SUaIT g § fovar wiram
?
(1) E-mail et
(1) 3
(2) High Level Language _
(2) 818 oldgd o aw
(3) Web browser
(3) 99 ISR
(4) Search engine :
. 4) ¥d 3o
86. Which of the following operation cannot be  86. famifolRgg #§ ¥ H—aT IR oI
1 d through Pay M for th .
o oug y anagér S < IR WPR & HHARAT & g Pay Manager
Employees of the Government of Rajasthan
boten @ HEH ¥ e fbA1 S e &7
(1) Download Pay Slip (1) 3597 7T S =TeE B
(2) Pay Bill preparation @) 3 el AR BT
(3) Prepare leave encashment bills 3 e B e
(4) Apply for State Insurance Loan
(4) 57§11 0T B U eae R
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87.

Match the following List-I with List-II —

Shaala Darpan

Google Classroom

Google Meet

Computer Aided Learning

List-1T

An Educational environment where a

computer program is used to assist the

user in learning a particular subject.

Video Conferencing Software

Portal where information about all

government schools are kept online

S. Online tool that allows teachers to set
assignments, have work submitted by
students, to mark and to return graded
papers.

Select the right answer using following code —

cCawp»

o

~ RO

(MA-Q B-R,C-P, D-S

87.

feifeRad g@-1 & -1 9 e —

qA-1

ATl gUoT

[T FATTEH

T e

PR USS AT

s L

T e aaERer SR R ey

vy &1 drEm ¥ SwanTedt @ gear

@ o $7ger U BT SN fbar

ST B

Q. AIfEAr BRI HiveawR

R. @& Udd Rl @ TN oo 3
BRI TS SUered BidT 2 |

S.  3ifHelss <& Sl et &1 arasie
e B, Bl g Wafiie T e o
B HAHA G AR
USS YR 9199 ¥ B A ST 2

1 fRY 7T e B T B gV e SR

BT YT PN —

Cow»

v

2 A-Q, B-R, C-S,D-P MA-Q B-R, C-P,D-§
) A-R, B-P, C-Q, D-S @A-Q B-R, C-S,D-P
3) A— & = |
HA-R,B-S,C-Q,D-P . ¥A-R, B-P,C-Q D-S$
@A-R, B-S, C-Q, D—P
88. Which type of storage device does a USB  88. USB pendrive & UHR &) R feasd &
pendrive belongs to? . Fata ard) &7
(1) Secondary memory (1) I I
(2) Primary memory (2) TS TES)
(3) Both primary and secondary memory @) TrEE) ik YEe FE S
(4) Neither primary nor secondary memory @) T 3k A TG T ¥ B TE
89.  Which of the following software willbeusedto 89 iFER ¥eilgs Unies™ 99 @ fore fy=faRaa
create lecture slides presentation? ¥ 9 59 Airedar a7 SuART fhar SITQT?
(1) Antivirus (2) MS Power Point (1) v&arRY (2) MS Power Point
(3) MS Excel (4) Al of these (3) MS Excel @) 3 )
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90.

To adopt a school, which of the following  90-

el B M oH B forg, fe Bl

online portal is most suitable? el UIe e Gaifis SELEH] 17
(1) Google classroom (2) SMILE (1) et FE—%H  (2) SMILE
(3) Gyan Sankalp Portal (4) Google Meet () T wHeT WdT (@) e Ae
91. Which of the following computer is smallestin 91 /= § & TR 3§ ¥ BT BT
B
size? 4
(1) Super computer (2) Micro computer (1) g PR (2) ATghT HEX
(3) Mainframe computer (4) Mini computer (3) FTHH PR @) Bt Frgex
92. Which of the following refers to the use of MS ~ 92- fo § § &9 MS Bing & SUINT T Hafig
Bing? FHT B?
(1) Search Engine (1) T go
(2) Internet Service Provider (2) e A HiaEeY
(3) CAPTCHA generator (3) CAPTCHA SRex
(4) QR code generator (4) QR code TR
93. Use of integrated circuits started in which 93 EERICE Gf¥e BT YT BRI B g el
generation of computer? T I® g7
(1) Fourth (2) Second (1) =rget (2) e
(3) First (4) Third (3) o @) g
94. Which of the following is not a wireless 94 fr=fafad § & 9 (& IRRG ScafwT
networking technology? TPl T8l 37
(1) Optical Fibre (2) Bluetooth (1) sificwre B (2) Jea
(3) Wi-Fi Hotspot (4) WLAN (3) IE—wE Sexdic (4) WLAN
95. Which of the following statement is true? 95. fy=iferRad A | FIaT HUF TE 87
(1) Hardware refers to the physical devices of a (1) TSR, FYR RReA & Afdd Sudxon
Computer System. DI AT BT 2|
(2) Software refers to a collection of programs. (2) HideaR, 9UHl & WU B HIhid Bxar
(3) Program is a sequence of instructions gl i
written in a language that can be understood (@) o, T A A ferg e et B v
by a computer. ng & forey 3 AR TR TS It ST
(4) All of th
L (@) 3 iy
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96. Rivers which drain their water in Sambhar lake ~ 96. =t S S/ et WiR er A AR £
are- (A) wrdt (B) @9
(A) Sabi (B) Chap (C) S YTTe (D) Her
(C) Rupangarh (D) Mendha MA3IRB @ C 3R D
(1) Aand B (@) Cand D
() BardC @) A and D BB EING R ALt
97. Which one of the following desert is not  97. fom ¥ ¥ H\wn woverd sireRmT § Rerg
situated in Australia? &l 87
(1) Gibson desert (2)  Great Sandy desert (1) firsgs 7o (2) I I 7o
(3) Mojave desert (4) Great Victoria desert (3) A 7oRIa  (4) I Ry Towra
98. Districts having high lsvel of gully erosion 98- 3% 3aeIforeT aTuRes @ Rrg & —
are -
(1) 3reTaR, AR, ST AR TAGR
(1) Alwar, Bharatpur, Dzusa and Jaipur
(2) Dholpur, Karauli, Sawai Madhopur and (2) TR, FIel, FATE ARG SR BleT
o (3) SRR, WetarsT, iF 3R g
(3) Ajmer, Bhilwara, Tonk and Bundi @< ) ol
(4) Dungarpur, Banswara and Pratapgarh Y e i '
99. The highest mountain peak of Europe is - 99. R &1 Halw qda B & —
(1) Mt. Perdu (2) Mt. Blanc (1) 79T Wy, 2 78< <%
(3) Mt. Elbrus (%) Pindzur (3) ST T (Togw) (4) fisoR .
100 In which of the following range ‘Doddabetta  100. fiyey & ¥ g AT W SIgNET A Rerg
Peak’ is situated? 27
(1) Nallamala Hill Range (1) STeorell T UErE) sigen
(2) Nilgiri Hill Range (2) AR P TER) e
(4) Cardamom Hill Range @) T A qu:ﬁ Pl
101. Match List-T with List-I and select the correct 101 g1 &1 ?1‘71’[—11 | gaferd SIfTe dor A9
answer from the code given below- few T Ple & W& SR BT 7T FIRY -
List-1 List-IT -1 el
(Place) (Mineral) (1) (Gt e
(A)NaatkiNeri () Mica A)TI-F= () D
(B) Sisarma (ii) Feldspar (B) AT (i) DesER
(C) Gujarwara . (1i1) Manganese (C) orNarsT (iii) S
(D) Lilwani (iv) Rock phosphate (D) wierart (iv) b Bpe
Select the right answer using following code - AR 3T T He @1 T S U HEl IR
(1) A-(i), B(ii), C-(iv), D-(iii) BT TAGT PN —
(2) A-(i), B-(iv), C-(iii), D~(ii) (1) A-(i), B-(ii), C-(iv), D-(iii)
e : ) (2) A-(i), B-(iv), C-(iii), D-(ii)
() A-(ii), B-(i), C-(iv), D-
L i e (8) A<(ii), B-(3), C-(iv), D-(ii)
(4) A-(i), B-(iv), C~(i), D-Giii) (4) A-(5), B~(iv), C~(ii), D-ii)
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102.

108.

104.

105.

106.

107.

108.

The descending order of top three petroleum
producing countries of the world in 2020 is—
(1) U. S. A, Saudi Arabia and Russia

(2) Saudi Arabia, Russia and Canada
(3) Russia, Iran and China
(4) U.A.E.,Russiaand U. S. A.

Which river crosses the equator two times?
(1) Nile
(3) Zaire

(2) Amazon

(4) Mississippi

Which is not a region of Mediterranean type of

agriculture?

(1) Central Chile

(2) Southernmost part of South Africa

(3) California

(4) New Zealand

In which climatic zone Jhalawar and Banswara

districts are included?

(1) Humid Region

(3) Very — humid
Region

(2) Semi — Arid Region

(4) Sub — humid
Region

Among the following, which districts of

Rajasthan are pot having common boundary

with Madhya Pradesh?

(1) Jhalawar—
Pratapgarh

(3) Karauli — Kota (4) Dungarpur— Bharatpur

(2) Bhilwara— Banswara

The highest sugarcane producer state in India
is -

(1) Karnataka (2) Uttar Pradesh

(3) Maharashtra (4) Tamil Nadu

Which of the following groups represents the
correct sequence of mountain peaks of
Southern Rajasthan in descending order of their
height?

(1) Sajjangarh—Sayra—Nagpani— Gogunda

(2) Gogunda—Nagpani—Sayra-Sajjangarh

(3) Nagpani — Gogunda — Sajjangarh — Sayra
(4) Sayra—Sajjangarh—Nagpani— Gogunda

-1022020‘#@?3?5@?93@%%

<N BT FAIE A & —

(1) gt 59 RS, MW@?W

(2) I%41 3R4, W 3R PR

@) w9, A IR 99

(@) ¥gFT 9 IFRE, w9 IR HYI o
SRS

1°3ﬁwﬁﬁaﬂﬂﬁﬂﬁﬂmm%@aﬁa‘rw

Predl 87
‘(1)% (2) as=
(3) SRR (4) Ry
104. =41 &3 AT arY By $7 g 8 87
(1) w7 forel
(2) <Y st BT SRR 9T
(3) Bferwifar
(4) eficivg
105. sirrars 3R qivarsT el f5e STelay @ve
# afeaferg 87
(1) o T (2) s =W
(3) Jrfci—emrst wewm (4) Ig—are yeur
106. fforRad § 9§, o= & 9F 9 Rraf &
7 FEUesT § T8 ol 27
(1) strermars — AT (2) Hierars — gigdareT
(3) TN — Bier (4) IR — WRAR
107. yRq &1 Faiftis 1 Scues 5T & —
(1) ®Alesd (2) <R w9
(3) HERTS (4) e

108. fym=ferRad # &1 I g <RI worenT &t

Tdd AfeAT BT IS SAE B IR GE
JRIET HH 27

(1) FoSITIG — |WRIRT — FFOHT — Tl
(2) =T — NI — ARRT — ASee
(3) AN — TIR[=T — Hoo Rl — |RIRT
(4) WIERT — FoSTTTE — ARTAEY —

01-@
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109.

110.

111.

112.

113.

114.

Which among the following states registered

lowest decadal population growth rate during
2001 - 20117

(1) Andhra Pradesh
(3) Gujarat

(2) Orissa
(4) Tripura

Soybean producing district is -
(1) Baran (2) Jalore
(3) Hanumangarh (4) Bikaner

Who established a relationship between the
monsoon and the atmospheric pressure
conditions prevailing over Tibetan Plateau?

(1) Thomson (2) M. T. Yin

(3) P. Koteswaram (4) Ramaswami

Which among the following industrial region is
known for the heavy metallurgical industries?
(1) Mumbai - Pune Industrial region

(2) Kolkata - Hugli Industrial region

(3) Gurugram - Delhi - Meerut Industrial region
(4) Chota Nagpur Industrial region

Match the List-I with the List-II and select the
correct answer from code given below —

List-I List-I1
(National Parks) (State)

(A) Mandla Plant Fossils (i) Gujarat
(B) Indravati (ii) Himachal

Pradesh
(C) Simbalbara (iii)) Madhya Pradesh
(D) Vansda (iv) Chhattisgarh

Select the right answer using following code -
(1) A-(iv), B-(iii), C-(ii), D-(i)
(2) A-(iii), B-(iv), C-(ii), D-(i)
(3) A-(ii), B-(i), C-(iv), D-(iii)
(4) A-(i), B-(iii), C-(ii), D-(iv)

Where is ‘Rajasthan State Chemical Works’
located?

109.

110.

111.

112.

113.

114.

2001 — 2011 & Heg f=faRad § 9 fog vy
H G99 FH SDIT SEET g o i Bl
ThY?

(1) e y=e () S
(3) ORI (4) fga
G Seare e 8 —

(1) 97 (2) SITeiR
(3) gFATTTE @) iR

fer AFeE iR fomd & UoR W @A
qYFSCY TE P RN H R RIfia
far? ‘
(1) i

(3) &1, BIcTRA

(2w & R\
(4) Ty

= 4 4 e seife ww N aifcas

SR & forg ST ST 87

(1) g3 — gO1 3wy

(2) FreDHIAr — grel iEnfiie uew

(3) U™ — faee — e senfis g9

(4) BleT AFTQR 3henfe yewr

-1 ® G-I ¥ gafera SIY vd S

T TN 3 ¥ 9§ ¥E SR g —
-1 -1
(Tsia ser) (1=3)

(A) HATSET WIUC Bif¥ed (i) TR

(B) grsaril (i) fearrel e
(C) fy=etaRT (iii) e U
(D) TrEET (iv) BTG

A faT T g FT wET FRG gY G SwR
BT TIT BN —

(1) A-(iv), B-(iii), C-(ii), D-(i)

(2) A-(iii), B-(iv), C-(ii), D-(i)

(3) A-(ii), B-(i), C-(iv), D-(iii)

(4) A-(i), B-(iii), C-(ii), D-(iv)

TSTRAN T Db g hal Repd 22

(1) AP (2) IR oih
(1) Lunkaransar (2) Sambhar Lake
(3) Didwana (4) Chhatargarh (3) SrsarI (4) BRI
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115.

116.

117.

118.

Among the following districts tropical dry
deciduous forest is not found -

(1) Alwar (2) Banswara
(3) Bundi (4) Jalore
Talcher coalfield is situated in —

(1) West Bengal (2) Jharkhand
(3) Orissa (4) Chhattisgarh

As per census 2011 in Rajasthan, the highest
and lowést percentage of Scheduled Tribes has
been recorded in which districts?

Hi

(A) Banswara -

est Lowest

Churu and Ganganagar
(B) Banswara - Bikaner and Nagaur
(C) Pratapgarh -  Sikar and Jodhpur
(D) Udaipur -
(D

2 cC

B

@ A

Match List-1 with List-II and select the correct

Bharatpur and Jhunjhunu

answer using code given below —

List-1 List-11
Lakes istrict
(A) Navlakha (i) Dungarpur
(B) Talabshahi (i1) Bikaner
(C) Kolayat (iii) Bundi
(D) Gaib Sagar (iv) Dholpur

Select the right answer using following code -

(1) A-(ii), B-(iii), C-(iv), D-(i)
(2) A-(iii), B-(iv), C-(ii), D-(i)
(3) A-(iii); B-(iv), C-(i), D~(ii)
(4) A-(iv), B~(ii), C-(i), D-(iii)

115.

116.

117.

118.

e 4 9 59 R 3 St s g

Uqse 91l 99 J8l U] SITd &8¢

(1) TR (2) grarer

3) §& @) TR

TR Bl &5 Rerd ® —

(1) uf¥=m e # (2) sIRETs |

(3) S A (4) BiRTTE #

ORI H 2011 & SF0ET & AJER, &

el 4 srggfa STenfa &1 ufaerd S fe

ST H IIfEHa 3R YA 27 '
IVPHTH YA

(A) qERI— g% SR IR

B) iHael —  dIER IR AR

(C) TAWTE — WA AR SEgR

D) SER -  WRAOR 3R I

(D

(2 C

3B

4) A

A1 & FE-11 | Fuferd HIRTT dom |

SR G T A Ry FHe F Pifsre—

1 Sph-II

(&eD) (forem)

(A) STaerEr (i) ¥R

(B) TTelTS et (i) frHmR

(C) FIarIa (iii)

(D) {9 IR (iv) EeTgR

A faT I HE FT T HA g Fal SR
BT AT PN —

(1) A-(ii), B-(iii), C-(iv), D-(i)

(2) A-(iii), B-(iv), C-(ii), D-(i)

(3) A(iii), B-(iv), C-(i), D-(ii)

(4) A-(iv), B-(ii), C-(i), D-(iii)
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119. Match  List-I with List-II and choose the

120.

121.

122.

123.

correct answer from the code given below -

List-1 List-H

(Centre) (Industry)
(A) Osaka (1) Ship Building
(B) Detroit (i1) Car (Automobile)
(C) Yorkshire (iii) Cotton textile
(D) Yokohama (iv) Woollen textile

Select the right answer using following code -
(1) A-(ii), B-(iii), C-(iv), D-(i)

(2) A-(iii), B-(ii), C~(iv), D-(i)

(3) A~(i), B-(iv), C-(iii), D-(ii)

(4) A-(iv), B-(i), C-(ii), D-(iii)

Gomath and Mewari are the breeds of -

(1) Buffaloes (2) Goats

(3) Camel (4) Sheep

Canadian Pacific Railway connects —
(1) Vancouver with Halifax

(2) Vancouver with Port Arthur

(3) Calgary with Montreal

(4) Calgary with Halifax

Which is not a correct match?
(1) Solar Power Plant — Mokala

(2) Rajasthan Atomic Power
Rawatbhata

(3) Gas based Power Project — Giral

Project -

() Amarsagar Wind Power Project — Jaisalmer
In which district of Rajasthan Gypsiferous soil
is found?

(1) Bikaner (2) Bhilwara

(3) Hanumangarh (4) Sawai Madhopur

119 -1 &1 11 ¥ Thfera SR aer <)

120.

121.

122.

123.

Ry 77 3 # ¥ ¥ S g -
-1 -1
(@=) (sar)
(A)INETHT (1) STod
(B) Sgide (ii) ARFR (@HEEH)
(C) ATHIRR (i) TH T
(D) ABRAT  (iv) HAI g&1

W fU T g BT 9AT BRA §Y GE SR
B TG BN —

(1) A-Gi), B-(iii), C-(iv), D-(i)

(2) A-(iii), B(ii), C-(iv), D-(i)

(3) A-(i), B-(iv), C(iii), D-(ii)

(4) A-(iv), B(i), C-(ii), D-(iii)

TG 3R Hars) fpaa et ¥?

U () 958

() Se @ 73

BT TRfhd Yot Sisar & —

(1) ST BT SNBFT ¥

(2) doHER BT Ui AR |

(3) el B Hifgad |

4) ST DT Felibaa &

BT gAfera & 2?

(1) ¥R Hoif whie — Hiben

(2) ISR TRATY Sl aRAHT — 19 e
@) I EnRa St gRaeET — FRid

(@) R IR 9qq HAT IRASTHT — SR
Yo @ g el # forefiov ge7 e
87

(1) SR
@) EgarFTTe

() “frerarer
(4) HaE ARG

01-&
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124. Which is not a correct match?

125.

126.

127.

Irrigation project - District

(A) Jawai - Pali

(B) Bisalpur - Tonk

(©)  Sidhmukh- Ganganagar

(D)  Panchana- Karauli

MA

@D

3B

@cC

Kameng is the tributary of which river?
(1) Damodar (2) Mahanadi
(3) Godawari (4) Brahmaputra

Which of the following is not a zoonotic
disease?

(1) Plague

(2) Beri - beri

(3) Rabies

(4) SARS  (Severe
Syndrome)

Match List-I with List-II and select the correct

Acute  Respiratory

answer using the code given below —

List-I -
(A)  Bleaching powder
(B)  Baking soda
(C)  Washing soda
(D)  Gypsum
(E)  Plaster of Paris
List-II
@) Sodium bicarbonate
(i)  Calcium sulphate dihydrate
(i)  Calcium Oxychloride
(iv)  Calcium sulphate hemihydrate
) Sodium carbonate decahydrate

Select the right answer using following code -
(1) A-(iii), B-(i), C~(v), D-(ii), E~(iv)

(2) A-(v), B-(iii), C-(ii), D-(i), E-(iv)
(3) A-(iii), B-(v), C-(i), D-(iv), E-(ii)
(@) A-(iv), B-(i), C-(iii), D-(ii), E~(v)

124. a1 G T 22

Riwrg aRatsr ~  fRren
(A) oS — Tl
B) IVAR - <P
© NEgE - TR
(D) UTET — PRI
Mma
(2D
3B
@4 C
125. 5T e 98 &) TR 99 &2
(1) TERR (2) g
(3) TMeTady (4) 98193
126. fyferfRae & ¥ Bivar U 3o I 78 22
(1) <ir
2 S-—9
(3) W

127

(4) SARS (WfdTR THREe YeRed Rigm)

-1 B -0 gEeT SR eGSR
- Ry 1w g F wmEa @ 9 R o1 999
HIFTY —
A) <A gNER
B) IfFT Her
(C) ST |rer
D) for=m
(BE) TIRX 3% Ry
-1
(i) 9T IEsEFe
(i) BfIm Aohe SEERse
(iii) dfeT RS
(v) fewram Tcbe ediEEse
(V) QIfeTw FEiNe SHrEse

A AT U e BT T B 8T wE SRR
B TIT BN —

(1) A-(iii), B-(i), C-(v), D-(ii), E~(iv)

(2) A-(v), B-(iii), C-(ii), D-(i), E~(iv)

(3) A-(iii), B-(v), C-(i), D-(iv), E~(ii)

(4) A-(iv), B-(i), C~(iii), D-(ii), E-(v)
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128.

129.

130.

131.

132.

Choose correct colour of insulation of wires

generally used for wiring in domestic electric

circuit -

(1) Live wire — Black; Neutral wire — Green;
Earth wire — White

(2) Live wire — Black; Neutral wire — Green;
Earth wire —» Red

() Live wire — Red; Neutral wire — Black;
Earth wire — Green

(4) Live wire — Green; Neutral wire — Black;
Earth wire — Blue

Which of the following mineral supplement is
used for treatment of acute diarrhea in children?
(1) Zinc (2) Iron

(3) Magnesium (4) Cadmium

Cells were first discovered by -
(1) Robert Hooke (2) Schleiden and Schwann

(3) Purkinje (4) Robert Brown

“Human Insulin” is -

(1) Inborn disease

(2) A genetically engineered hormone
(3) An infectious disease

(4) An enzyme

Which of the following biomolecules can act as

a biocatalyst? Select the correct answer using

128.

129.

130.

131.

132.

e faga aRuer & amgfd y=r ari (@)
3G aRi & fagd I el & fog W&

9fg —

() faerag aR — @Tell, ST TR — &,
ISP AR —> B

) fag=m R — @ren, STEF AR — W,
T—HIH dR — oA

@) fagrg AR — e, ST AR — B,
U dR — B

) g AR — &, TN AR — Bre,
J—HUdH dR —> el

FfaRed 9 ¥ S G SRS, =i 4§

FAS T & SUAR B Y [HAT S
87

M e (2 A
(3) N (4 ssfigg
YT BIRIDIN P Wol B Tg —

(1) (e g5 )T (2). TSST 3R @ gRT
3) gfd~l g
"gET s § —

(1) S=IoTTg
(2) @it JAWAIET gH=E
(3) T HpHD I

() e 999 gNT

(4) 7% gaisH
ffead % 9§ S Si9 3], 99 SSRG oI
B TR FHA 57 7 AT Y HE DI TR

the code given below — I el SR BT TIT BT —
(A) Carbohydrate (B)  Lipid (A) oHEEse (B) fafis
(C)  Protein (D)  Nucleic acid ©) W D) w3
(1) Band C (2) Only C (1) BTG C (2 Baa C
3)C. 4
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133. Select the mismatched pair -
(1) Estrogen : Ovaries
(2) Adrenaline : Pituitary gland
(3) Thyroxine : Thyroid gland
(4) Testosterone : Testes

134. Select the
following -

incorrect statement from the

(1) In stratosphere chlorine atoms are released
from Chlorofluorocarbons (CFCs) by UV
rays.

(2) Chlorofluorocarbons (CFCs) added to the

stratosphere, have  permanent  and

continuing effects on Ozone.
(3) The ‘Kyoto protocol’ is for the substances
that deplete Ozone layers.

(4) In stratosphere, chlorine atoms act as a

catalyst for degrading ozone.

135. Which among the following is not a base?
(1) C:HsO0H (2) KOH

(3) NH,OH (4) NaOH

136. Test cross is the cross of an individual with -
(1) An  individual heterozygous for the
characters involved
(2) Both the parents (homozygous recessive and
homozygous dominant)

(3) A homozygous recessive parent

(4) An individual with similar gene type

133. 97 SIS &1 =TIT W —
(1) T : 3fSTe™
(2) Tieels © dRyy W
(3) IR : arRigs ufdr
(4) SRR : quoy
134. foyr=forlReT 3 9 ST B &1 997 BIRTT —
(1) gaamssa H UV R0l gRT TaRga™T
I (CFCs) ¥ FoNI URAI e BT 2 |
(2) gaHsd § Hefod (el )
FARIGART B9 (CFCs) &7 i W
W TG fAR=a% uWig Brar
(3) ‘FIeT Hietdler, S WRd B i By
a1 el @ forg ¥ |
3) FHamEsa ¥ A ﬁ"‘ﬁW%@ﬂ?ﬁﬁ?{
WA SRS S ©I H B B § |
135. fyfoRaa & 9 & 91 &R 92t 27
(1) C;HsOH (2) KOH
(3) NH:OH (4) NaOH
136. Tferrel WoRvT Ue @ffe &1 Ak (i) & —
(1) Hafrr el @ Rorg e e afe @
arer
(2) ST ST (TGl STt 3R g
g9 & 91T
() Th TGN YA STHE D 1

(4) g9 SIF UrHY d1el Afte @ |l

01- @
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137.

138.

139.

140.

141,

A spherical mirror and a thin spherical lens
have a focal length of +25cm each (in new
Cartesian sign convention). The mirror and lens

are likely to be -
(1) The mirror is.convex and the lens is concave
(2) The mirror is concave and the lens is convex
(3) Both concave

(4) Both convex

During burning of a candle, which type of
change takes place?

(1) Only physical change

(2) Only chemical change

(3) Both physical and chemical change

(4) Neither physical nor chemical change

A current of 0.5A is drawn by a filament of an
electric bulb for 10 minutes. The amount of
electric charge that flows through the circuit
is -

(M s5C
(3) 600C

(2 300C
(4) 50C

Flow of energy in an ecosystem is always -
(1) Multidirectional (2) No specific direction

(3) Bidirectional (4) Unidirectional

Which of the following is known as the “Green
Gold of India™?
(1) Neem (2) Wheat

(3) Algal cultures (4) Bamboo

137.

138.

TS el TYV] AT Tb afel TMeld o Il
B BIHd W +25cm (A i =g aRurdt
#) B | TUOT o o H9aa: § —

(1) U1 IS AT o (AT =

(2) Tqvy TS TAT o IA B

(3) I Sradal

(4) Sl ST

AHe oo @ SR 69 YR &1 gRad
BT 87
(1) ®aa Hifde aRad=

(2) Bad RIS gRad
() 1 Hifde ik e 9Reds

@) T A 9fee R A1 & It gRady

139.

140.

141.

T fagd ge9 & g A 9 0.5A fa=qa awT 10
e d yarfed @1 ol 2 faga aRuy ¥

yaied B arell fAgd Smaer § —

(1) 5C (2) 300C

(3) 600C (4) 50C

TRReIRYS 3 3 Sl &1 YaTE G349 BT R —
(1) sgfedia (2) P13 faey faem
(3) fefaeig (8) towieeig

frafoReg & 9 &9 9Ra & T4 Nes” @
®U § ST ST 27
(1) (@) 7

(3) 391t HaelA (@) 9
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142. An electric iron corisumes 1kW electric power

143.

144,

145.

146.

when operated at 220V. The rating of
appropriate fusé which must be used with it is -
(1) 10A () 2A
(3 5A (4) 4A

Three thin lenses of focal lengths +20cm,
+50cm and —25cm are placed in contact with
each other. The effective power of system of
these lences is -
(1) +11D

() +3D

) +2.22D

(4) —4D

Agenda 21 (the outcome document of the 1992
Rio conference) is related to -

(1) Ozone depletion

(2) Environmental Education

(3) Sustainable development

(4) Global Warming

Select the state animal of Rajasthan using the

code given below —

(A) Camel (B)  Tiger
(C) Godawan (D)  Chinkara
(1) Aand D (2) Only A

@) BandC (4) Cand D

The soap molecule has -

(1) A hydrophilic head and a hydrophilic tail
(2) A hydrophobic head and a hydrophobic tail
(3) A hydrophilic head and a hydrophobic tail

(4) A hydrophobic head and a hydrophilic tail

142,

143.

144,

145.

146.

9 % fge 3 B 220V W TR v
€, 1 I8 1kW &) fle uifdd &1 SuanT sl
71 39D AR SWANT F forT W At Sugda

RIS BT IS & —

(M 10A ) 2A

(3) 5A (4) 4A

BI6d T +20cm, +50cm AT —25¢cm B qF
qefel oAl B T R A P F W T W
= e B P A T s g -

(1) +11D () +2.22D

(3) +3D (4) —4D

TorST 21 (RET ST 1992 & IR )
T & —

() 3

(2) ggiq=oiiT fRry

() TR famrg

(4) fazaegrdy qmwmw gfy

A QT 1Y S & gErEer ¥ IR @ IS

g BT IIT HIIY —
(A)  ®ec

(€) TrSE
MATID

B) I
(D) iR
(2) BT A

BBt C @4CwD

9T B 9] F B € —

(1) T& SR 9N &R & TerRell 4o

(@ v STafRel Y ok v FefRrh 4o
(3) T STerTh ANy iR ve STefarelt 4o
@) TF SRl MY ok v Serel e
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147.

148.

149,

150.

Which of the following blood group is referred
to as a universal recipient?

(1) AB (2 A

@O0 (4B

Neoprene is prepared by polymerization of
which of the following?
(1) Isoprene (2) Vinyl Chloride

(3) Acrylonitrile (4) Chloroprene

Consider the following statements and choose
the correct ones using the code given below —
(A) Motor vehicles having catalytic converter
should use unleaded petrol

(B) In India, the Air (Prevention and Control
of Pollution) Act came into force in 1987

(C) The Air (Prevention and Control of

Pollution) Act 1987 amendment includes noise

as an air pollutant

(1) A,Band C (2) Aand B

() Aand C @ BandC

The defect of vision ‘Astigmatism’ occurs,

when -

(1) The ciliary muscles are weak

(2) There is a spot on retina

(3) The cornea is not spherical in shape

(4) The optic nerve to the brain are damaged

147.

148.

149.

150.

fefafes # & foq 9@ 98 &1 @

HAHIAG UTddl & ©U § Hafid fbar ST

27

(1) AB 2 A

3o (4) B

fefaRad A 9 fFae sgadiexe § Fae

T AT 27

(1) srgE= (2) fa e FARTSS

@) gfhamEgsa (4) FARM

fr=fafad oM w R FRT w@ 5 kg

TN G & FeRdl I HEl Sl BT adT

#iforo —

(A) deferfed wacy Jaa Hex dreAt o
3TeISS ST BT YART HRAT AR

(B) WRd ¥ 917 (gm0 AR U Fim)
SR 1987 # ] g3

(C©) g (9guYT AR Ue fagam) sifafas

1987 HIEA H AR B 9Y UG & ©U A

e fdar Tan

(M ABUC (2 ATd B

® AT C 4 Bvd C

gfEPIoT ‘Afigamar I~ gl 2, 9 —

(1) gesrft UMY HHOIR B &

(2) gfie yeal R Te g1 BT ©

(3) wifviar @1 aMeRfa Mefta T Bl @

@) AR B WS WM el §H DT

o B 2

01-@
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